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- D - 34 I:l
X 74617 159,585 75,987 83,598 [ =&FILUETAT 742 1,840 863 977
E 4,645 9,807 4527 5,280
BEKET1T 896 1,853 900 953 |EREEFZHT2T 1,430 3,242 1,536 1,706
BEKET2T 361 801 387 414 5 1,430 3,242 1,536 1,706
B 1,257 2,654 1,287 1,367 |R=E~EB1T 146 401 189 212
< [E BT 9,304 22,362 10,630 11,732 |lHE=E~E&ER2T 286 563 272 291
Lt RER1T 346 550 273 277 |R=E~ ERI3T 450 1,044 502 542
Tt RERT2T 238 431 199 232 |R=E~ER/T4T 206 418 190 228
Lt RER3T 255 450 240 210 |R=E~ ERI5T 357 644 337 307
Lt RERT4T 158 292 146 146 5| 1,445 3,070 1,490 1,580
It RERST 150 314 159 155 | KSIFBT1T 773 1,663 781 882
Lt RERGT 95 224 116 108 | KEI1RAT2T 905 1,867 890 977
TtERER7T 79 169 79 90 5| 1,678 3,530 1,671 1,859
Tt ERERST 129 216 105 111 |ERERT 101 202 98 104
g 1,450 2,646 1,317 1,329 [ RERT2T 147 331 169 162
tfEBET1T 287 580 279 301 [BARER3T 371 880 394 486
tfEBET2T 1,183 2,592 1,212 1,380 |FARERTAT 280 476 193 283
tfEBET3T 1,038 1,921 951 970 B RERIST 139 299 141 158
tfEBET4T 926 2,078 1,016 1,062 | 1,038 2,188 995 1,193
g 3,434 7171 3,458 3,713 |F{E AET 2,222 4,930 2,430 2,500
ERATET1T 626 1,516 759 757 | & AHT 252 459 226 233
ERATET2T 355 824 393 431 |BEEERMET1T 253 475 223 252
ERATETST 368 832 400 432 |BEE ERMET2T 576 1,180 577 603
g 1,349 3,172 1,552 1,620 (B EEFRMAETST 731 1,550 725 825
==Yl 1,047 2,177 1,049 1,128 (B EEFRIMETAT 697 1,341 657 684
HEWEET 253 500 228 272 |BEEERMETST 694 1,618 782 836
HERE2T 424 697 305 392 B 2,951 6,164 2,964 3,200
HEWREIIT 251 466 231 235 |BEEMBILAT1T 216 366 167 199
HEREAT 150 297 139 158 |BEE EiBdtAT2T 462 934 441 493
g 1,078 1,960 903 1,057 |BE & B#EILEI3T 520 1,096 532 564
HEREET 1,618 3,029 1,328 1,701 |BE & B#EILET4T 614 1,301 621 680
HEREET2T 2,691 5,644 2,656 2988 |BEEMBILATST 731 1,675 802 873
HEREEIST 2,960 5,716 2524 3,192 5| 2,543 5,372 2,563 2,809
HEFETAT 1,994 3,725 1,635 2,090 |EEBHEE1T 1,033 1,999 976 1,023
HEFETST 1,322 2,805 1,335 1,470 (B E BiBAT2T 144 304 161 143
£t| 10585 20,919 9478 11441 (BEBMATST 2,252 4,505 2,183 2,322
HUEET1T 782 2,171 1,072 1,099 B 3,429 6,808 3,320 3488
HYERT2T 534 1,315 639 676 |BEETZET1T 657 1,400 646 754
g 1,316 3,486 1,711 1,775 B BflzET2T 473 980 455 525
MEET 443 955 467 488 | BEETZAI3T 322 761 369 392
EET2T 349 830 402 428 B 1,452 3,141 1,470 1,671
B 792 1,785 869 916 |BEEEARET1TT 667 1,315 657 658
WHEERT1T 724 1,862 888 974 |BEEEARET2T 263 598 289 309
HEERT2T 213 475 232 243 |BEEEARETST 1,048 2,607 1,279 1,328
RT3 T 760 1,639 828 811 g 1,978 4,520 2,225 2,295
B 1,697 3,976 1,948 2028 |EE BMEmAT1T 312 699 333 366
RKEIRAT 5839 13,025 6,303 6,722 |BE BMEmPAET2T 236 469 227 242
hRERTT 272 531 254 277 |BEE EEBET3T 611 1,310 648 662
hRER2T 189 341 151 190 g 1,159 2,478 1,208 1,270
hRERST 233 504 243 261 |\ T4t 97 199 90 109
hRERT4T 263 523 252 271
B 957 1,899 900 999
o A BT 602 1,274 616 658
hEEEET1T 586 1,249 587 662
hEEEET2T 782 1,293 593 700
HEEEEST 458 1,140 539 601
hEEEET4T 734 1,460 716 744
HEEEEST 846 1,692 807 885
hEEEET6T 3,308 6,136 2,922 3,214
5t| 6,714 12970 6,164 6,806
ESgrii) 877 2,201 1,087 1,114
BEREBILETTT 1,048 2,166 1,038 1,128
BHXEFILET2T 994 2,208 1,061 1,147
BXEFILAIST 1,861 3,593 1,565 2,028




